<\ )y DIXONS
7\~ ACADEMIES
N\~ TRUST

Cycle 1 mock exam preparation: securing a grade 4 and aiming for a grade 5 (foundation)

W/C Monday 22 September

Revision timetable:

Monday 22 Tuesday 23 Wednesday 24 | Thursday 25 Friday 26 Saturday Sunday
September September September September September 27 September
September | 28
Securing e Collecting e Expanding and | ® Solvinglinear | e Order of e Percentages | ® HCF/ e Angle
grade 4: like terms factorising equations operations of amounts LCM facts
foundation single (one and two
brackets step)
Notes

e 20 marks = 20 minutes (time yourself!)
e Show all of your working out

e Use the link to CorbettMaths to look at videos to support
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XA ALES 6
Q) 2+ o= a0l a) Simplify 2a x 3b
@ a X o = ab w"} (1 mark)
O 08 = a® 0 o> b)  Simplify 2p x 2p
O @"’6 (9.0\; ?\a—\&“lb (1 mark)
| o ey 11 i ¢) Simplify 7X¥*5%
F S h- Fh = : 4
1. Simplify 3x +4x - 2x (1 mark)
8.
(1 mark) a) Simplify &’ + & +d’
2.  Simplify n+n+n (1 mark)
b)  Simplify 2rs— 5rs+ 4rs
(1 mark) Simplify 4a+2-Ta+a—6
3. Simplify  8c+3d-c+2d (1 mark)
c)
(2 marks)
4.  Simplify 2x—3y—6x—4y (2 marks)
9.
(2 marks) a) Simplify n +n+n-n
5. (1 mark)
a)  Simplify % b) Simplify 3xy+ 25y — xy
(2 mark)
b) Simplify a x b x ¢ (1 mark)
C) | Simplify 4a+3b—a+3b+6
(1 mark)
c) Simplify 4 x 3x
(2 marks)
(1 mark)
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Example:

5(oc +)
x X T

EStS&:ﬁﬂS

]oC — |4+
factors & Toc and 4 =7

-2

7 7(oc-2)

QG(G-2
xCOt -)Q

O 0 Fal

Z +2
50(.\13"‘6 U’-\?rd zd = j

9T 4G50

a) Expand 4(x+ 3)

b) Expand 7(2x+7)

C) Expand 8(3s-2)

d) Expand 3(2y-4)

a) Expand p(p-—3)

b) Expand 5a(a - 6)

6(c —8)

(1 mark)

(1 mark)

(1 mark)

(1 mark)

(1 mark)

(2 marks)

3. Expand and Simplify  4(g + 3) + 3(g - 2)

(3 marks)

Tuesday 23 September

4. Expand and Simplify 6(y +3)-5(—4)

a)

b)

b)

a)

b)

Factorise 4t + 20

Factorise 3y +12

Factorise 16g + 8

Factorise  18x+ 24

Factorise  15y—6

Factorise x> —9x

Factorise a? — 10a

(3 marks)

(1 mark)

(1 mark)

(1 mark)

(1 mark)

(1 mark)

(1 mark)

(1 mark)
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Example

=25
SXLEE

= 2|
g2

\

N
I

1. Find the missing number

a) 16 - =9
b) 16=197E
2.

a) Solve x+6=18

b) Solve m—-5=8

C)  Solve 20-m=12

d) Solve da=24

e) Solve % =6.5

f) Solve h+h+h=12

g) Solve a+a+a+a=24

(2 mark)

(1 mark)

(1 mark)

(1 mark)

(1 mark)

(1 mark)

(2 mark)

6w=4w+9

Wednesday 24 September

(1 mark)

(2 marks)

(2 marks)

(2 marks)

(2 marks)

(2 marks)

(2 marks)
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Example When multiplying and dividing,
do these in the order you read 8. Workout 2+ (5 + 3)2
Brockets (¢ )| themin.
SOx4T2 B hx2.
lndices (T | 290+2 1.25x2
=10 = 25
Duwide —
‘ 2 k
When you see a question with (2 marks)
MUM"\"PLB an +and a - dothese in the 9. Write brackets () in these statements to make
Add ordir you ﬁad therr;r;.q- 3 each statement correct. You may use more than
-+ Z 5—- ! y .
o- 4 -3 one pair of brackets.
Subbract — =G =8 a) 4x5+3=32
1. Workout 3x5-4
(1 mark)
b) 3+4x5+6=47
(2 mark)
(1 mark)
2. Calculate (8-2)x3
c) 2+7x3+4=51
(1 mark)
(1 mark)
d) 9-7x3+5=16
3. Calculate 7x2-3x4
(1 mark)
(1 mark)
10.  Joey thinks the answer to 16 +4x2 is40
4. Workout 6+15=+3 Albert thinks the answer to 16 +4 x 2 is 24
Who is correct?
Explain your answer.
(1 mark)
5. Calculate 5 + 4?2
(2 marks)
11. Workout /81 —(9-=7)x3
(2 mark)
6. Workout 3 +10x23
(2 marks)
(3 marks)
7.Calculate 5+2x9-+3 (2
marks)
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2.7,

430 Increase 120 ?537-
107, =49
1/ -, 48

24516

=

)

6.

Work out 10% of £95

(2 mark)
Work out 50% of 1200 grams
(2 mark)
Work out 1% of 200 litres
(1 mark)
Find 45% of 820
(2 marks)
There are 30 students in a class.
10% of the students are left handed.
How many students in the class are left handed?
(1 mark)
Work out 75% of 300
(2 marks)

Friday 26 September

6. Freya says “50% of 30 is equal to 30% of 50.”

Show Freya is correct.

(2 marks)

. Logan has two tubs of beads.

5% of the 600 beads in Tub A are yellow.
4% of the 900 beads in Tub B are yellow.

Work out the total number of yellow beads in the tubs.

(4 marks)

. David is paid £34000 per year.

He is going to get a 3% increase in the amount of money he is paid.

Work out how much money David will be paid per year after the
Increase

(3 marks)

. Richard gets a bonus 0of 30% of £130

Connor gets a bonus of £40

Work out the difference between the bonus Richard gets and the bonus
Connor gets

(3 marks)
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Example
"Factors" are the numbers we can multiply
together to get another number: 2 x 3 = §

Factor

The factorsof 6 are: 1, 2, 3, 6

Factor

A multiple is the result of multiplying a number by
an integer. Think of its times tables

The first five multiples of 9 are: 9, 48, 27, 36, 45

12 28 100
40 64

35 6 18 38

From the box above, choose two numbers that:

(a) have a common factor of 10

............... and .....coeeene
(1)
(b) have a common multiple of 24
............... and ....ccoceeuene
(1)
(c) have a common factor of 7
AAAAAAAAAAAAAAA and ..............
(1)
(d) have a common multiple of 200
............... and ...
(1)
2. (a) Listthe factors of 28
(1 mark)

(b) Write down the highest common factor (HCF) of 21 and 28

(2 marks)

Saturday 27 September

3.  Write down the highest common factor (HCF) of 12 and 16.

(2 marks)

4. Write down the lowest common multiple (LCM) of 9 and 12.

(2 marks)

5.  Ared light flashes every 6 seconds.
A yellow light flashes every 4 seconds.
They both flash at the same time.

After how many seconds will they next both flash at the same time?

(2 marks)

6. Write down two numbers that have a highest common factor (HCF) of 10

(2 marks)

7. Tilly the dog barks every 9 seconds.
Billy the dog barks every 12 seconds.
They both bark at the same time.

After how many seconds will they next bark at the same time?

(2 marks)

8. Find the lowest common multiple (LCM) of 12, 15 and 18.

(3 marks)
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Example:
e Acute angles are less than 90°

e Obtuse angles are greater than 90° and less than 180°

Reflex angles are greater than 180°and less than 360°

e Angles in a right angle add to 90°
e Angles on a straight line add to 180°
e Angles in a triangle add to 180°

e Angles around a point add to 360°

o

Angles in a quadrilateral add to 360

1. Here are four angles A, B, C and D.
A

Match the angle mathematical name to the angle.

Mathematical Name Angle
Acute Angle
Obtuse Angle
Right Angle
Reflex Angle
(3 marks)

2. Work out the size of the missing angle. Give reason for

your answers.

a) 4 B c
*/121°

(2 marks)
b) 80° 4

(2 marks)

Sunday 28 September

4. ABand BC are perpendicular lines.
Work out the size of the angle marked x.

) Give a reason for your answer.

52°

5. Work out the size of the angle marked x.

) Give a reason for your answer.

(2 marks)

6.  Work out the size of the angle marked x.
) Give a reason for your answer.

Shown is a right angled triangle.

8 Shown below is a quadrilateral.

101°

53°

Not drawn
accurately

' Work out the size of the angle marked x.

(3 marks)

(2 marks)

(2 marks)

Dixons Academies Trust «.\/
Registered Office: Dixons City Academy, Ripley Street, Bradford, West Yorkshire, BDS 7RR. Registered in England No. 2303464 /\”’



